hw answers 16_14, 16 20, 16_23.notebook January 22, 2018

Syt (96 54 (1-99)

12089
54 1 01793
(SNe,. 567 x)
I ow Q5% conl. that thw attual ypvop, of
all odul  Awsr, who Laver Seantes 1S Vnins irciehal

\OSY"S% .6 1S V\0+_M thoel.,, T am 059 o,
Ypa piop ¥S 2,5,



hw answers 16_14, 16 20, 16_23.notebook January 22, 2018

\G - 40

———————

) ‘_':5=,o75

WAV pofm (-075): .4y

Q 2%= 23 ) ar.5% col. hes largest 2F
C) Z-* :.70 More conl \afaer aYen




hw answers 16_14, 16 20, 16_23.notebook January 22, 2018

|6-23
Q.) 'P: actual prog. o-(-\ a\l adults t hat oppoSL Obo\fsl{ﬁ
Th pewny.
0 .59+ 963009
a3l b
G591 019

(5698, » ¢03%)

I am %5% cond. + Qctual poop. of all aduts

W ho oiedpposed to a\m(;s\n:ng Tl ptnny 15 in
r his (eiwal

of

cTom 99% cond, Fhot oot wen -749% ovd 6098
of all adults ave oppsed to oly\ishing

4 b ponAY.
A vane(5Vz0 236 (1-.59z20
1366.442 10 Q43,5620

.pfob\em Stotve H wog o "N\o\om Somp @
(SRS Lo pop. 68 \'v\“e(‘@,-),) of Gd‘*\*&

Y \d;w, conditionS appont So&fSQ.‘J,



